How do we apply limit on vector functions?

Eveluate

$$f(x) = 5x^2 - 3$$

$$\lim_{x\to a} f(x) = f(a)$$

$$r(t) = \langle 2t^2 - 3, a, 5e^t \rangle$$
  
 $\lim_{t \to 0} r(t) = \langle -3, 2, 5 \rangle$ 

$$\frac{|\lim_{h\to 0} \frac{r(t+h)-r(t)}{h} = r(t)}{h} = r(t)$$
Let  $r(t) = \langle 2t^2 - 3, 2, 5e^{t} \rangle$ 
Find  $r'(t)$ .

$$\lim_{h\to 0} \frac{\langle 2(t+h)^2 - 3, 2, 5e^{t+h} \rangle - \langle 2t^2 - 3, 2, 5e^{t} \rangle}{h} = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t+h} - 5e^{t}}{h}}{h} \right) \right)$$

$$= \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t+h} - 5e^{t}}{h}}{h} \right)$$

$$= \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} \right)$$

$$= \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} \right)$$

$$= \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} \right)$$

$$= \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} \right)$$

$$= \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} \right)$$

$$= \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} \right)$$

$$= \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right)}{h} \right)$$

$$= \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, -(2t^2 - 3), 0, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h} \right) = \lim_{h\to 0} \left( \frac{\langle (t+h)^2 - 3, \frac{5e^{t}}{h}$$

